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Select Your Programme *

Mark only one oval.

Diploma in Pharmacy
Bachelor of Pharmacy
B.TECH.(CSE)
B.TECH.(ECE)
BCA

B.SC.(CS)
B.SC.(BT)
B.SC.(ANCS)
B.SC.(HN)
B.Sc.(MM)
B.A.(MW)

BBA

B.COM
B.A.(JMC)
BBA(HM)
BBA(LLB)
B.OPTOMETRY
B.SC.(MB)
B.SC.(MLT)
B.SC.(MRIT)
B.SC.(PA)

LLB

PGDHM
Dip.CSE
Dip.ECE

Dip.EE

Dip.CE

Dip.ME

MCA

M SC (CS)
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M.SC.EAN,CS)
M.SC.(MM)
MBA
M.SC.(BT)
M.TECH(CSE)
LLM
M.A.(JMC)
M.A.(ENG)
M.SC.(MATH)

M.SC.(MB)

Answer all the questions. Each question carry one mark.
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9. 1. The differential equation whose general solution is y=Asinx is

Mark only one oval.

— = VCDsX — = Jootx
Option 1 Option 2

{'f'l.'

— =ytanx

e
Option 3 None of these
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10. 2. Two events A and B are mutually exclusive if

Mark only one oval.

P(A~B)=P(A).PB) P(A~B)=1

Option 1 Option 2
P(A~B)=0

Option 3 none of these

11. 3. After rounding off to three places of decimals the number 57.1092 becomes
Mark only one oval.

57.109
57.100
57.110
0.109
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12. 4.

The integrating factor of the equation — + = y= x~"is

ar  x
Mark only one oval.
X a2
Option 1 Option 2
logx none of these
Option 3 Option 4
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13. 5. The probability of any event A satisfies

Mark only one oval.

P(4)z1 P(4)<0
Option 1 Option 2
0=P(4)=1 None of these
Option 3 Option 4
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14. 6. Condition for independence of two events A and B is

Mark only one oval.

P(AnB)=P(A).P(B) P(A+B)=P(A).P(B)
Option 1 Option 2

P(A-B) =P(A).P(B) P(A~B)=P(A)P(B/A)
Option 3 Option 4
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15. 7. If two events are exhaustive then

Mark only one oval.

P(AnB)=1 P(4UB)=1

Option 1 Option 2

P(4AnB|=0 P(4wB|=0

Option 3 Option 4

https://docs.google.com/forms/d/1RgQi9zkxHRGIiPv-ILEWI9e9_4URJ-4ofyzaAtHbgcf4/edit
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16. 8.

I dx
xlogx

Mark only one oval.

logx+c log(logx)+c

Option 3 None of these.

https://docs.google.com/forms/d/1RgQi9zkxHRGIiPv-ILEWI9e9_4URJ-4ofyzaAtHbgcf4/edit 11/23



2/1/2021 Online Assessment (Even Sem/Part-I/Part-Il Examinations 2019 - 2020

17. 9.

One of the roots of 3x' +5r —40 =0lies in between

Mark only one oval.

1and 2
0and1
2and 3

None of these

18. 10. If var(x)=5 and y=5x+6 then var(y) =
Mark only one oval.

125
150
6

None of these

19. 11. The relation among mean, median and mode is
Mark only one oval.

Mode=3 Median-2 Mean
Mode=3 Median+2 Mean
Mode=2 Median-3 Mean

Mode=2 Median + 3 Mean
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20. 12.The variance of 1,5,6 is

Mark only one oval.

3.67
4.67
9.1

0.67

21. 13

The mode of the frequency distribution
x:3 2 1 0

f:10 36 24 8

Mark only one oval.

A N O

22. 14. The mode of the observations 2,1,1,2,3,5,2,1,2,6,4,2,1,3 is

Mark only one oval.

N b
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23. 15.The A.M of 7,5,2,6,x is 4; then x=
Mark only one oval.

0
4
-1

None of these

24. 16.The A.M of x-2, 10, x+3, 7 is 9 . The value of x is
Mark only one oval.

10
9
0
11

25. 17

,

(
Let A and B be two events and PL A|=03,P(B)=04, P{ A B‘J = 0.5;then P( A+ B] =
Mark only one oval.

0.5
0.8
1

None of these
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26. 18. Two unbiased coins are tossed one after another, the probability that one is
head and other is tail is

Mark only one oval.

1/4
1/2
3/4

None of these

27. 19. Acoinis tossed successively three times .The probability of getting exactly one
head is

Mark only one oval.

1/8
1/6
3/8
2/5

28. 20. Probability of an impossible event is
Mark only one oval.

—00

1
0

None of these
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29. 21

cos 2xdx

” (sin .*c:—H.:n:-s.v;)2 -

Mark only one oval.

loglsinx+cosx|
loglsinx-cosx|
-log|sinx+cosx|

None of these

30. 22

- 2
s X

[—4&’*;: Atan’ xthen A is
Y cos X

Mark only one oval.
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31.  23.

[l[.x:-l—l)dt

v X X

Mark only one oval.

X— |+C
X

Option 1

Option 3

https://docs.google.com/forms/d/1RgQi9zkxHRGIiPv-ILEWI9e9_4URJ-4ofyzaAtHbgcf4/edit

, 1
X ——~ +cC
2
Option 2
1
X+—|+cC
X
Option 4

17/23



2/1/2021 Online Assessment (Even Sem/Part-I/Part-Il Examinations 2019 - 2020

32. 24

I sin” (cos x)dx =

Mark only one oval.

g
P
—X— +C
2 2
Option 1
2
T X
——X— +C
2 2
Option 3

https://docs.google.com/forms/d/1RgQi9zkxHRGIiPv-ILEWI9e9_4URJ-4ofyzaAtHbgcf4/edit
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None of these
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33. 25.
“log x
loes,
1 x

Mark only one oval.

1/2
2
1/e

34. 26.

&\ _dv

The order and degree of the differential equation d_ — Zd; = 3x are
X X

Mark only one oval.
2,1
2,2
1,1

1,2
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35. 27

2
? ?

The general solution of the differential equation y 3 + rd— = ( contains
X X

Mark only one oval.

1 arbitrary constant
2 arbitrary constant
3 arbitrary constant

4 arbitrary constant
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36. 28.

cosxax _

_.}__.|_'-|

" l1+sinx

Mark only one oval.

oS

log4 Option 2

Gl

Option 3 log2
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37. 29.

1
— | x =
D

Mark only one oval.

(]

| =
:..-4‘.-
Pt | ==d

~1| 2
bt | =l

Option 1 Option 2

b | =
[ N

Option 3 Option 4
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38. 30.

If P(A+B) =% then the probability of P(A.B) is
Mark only one oval.

1/7
2/7
5/7

None of these
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